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'HYRMþLFH��0ODÿH�SLRQLUNH

�� 6(.8/29,û�$QGMHOD �� 3OLYDFNL�NOXE��5DVLQD���.UXVHYDF ��P�6ORERGQR�)UHH ����� ���
�� 0$5.29,û�-RYDQD �� 3.�&UQLFD ���P�6ORERGQR�)UHH ������� ���
�� 0,7,û�-RYDQD �� 3OLYDFNL�NOXE��1LV������1LV ���P�6ORERGQR�)UHH ������� ���
�� 6$9,û�,YD �� 3OLYDFNL�NOXE��1LV������1LV ���P�3UVQR�%UHDVW ������� ���
�� ='5$9.29,û�1HYHQD �� 3.�&UQLFD ���P�6ORERGQR�)UHH ������� ���
�� $56,û�6DQMD �� 3OLYDFNL�NOXE��1LV������1LV ��P�6ORERGQR�)UHH ����� ���
�� â/-,9,û�0LOLFD �� 39.�*RF ���P�3UVQR�%UHDVW ������� ���
�� 0$5.29,û�$QGUHD �� 3.��9DOLV�9DOMHYR ��P�6ORERGQR�)UHH ����� ���
�� %8'-(/$1�$QMD �� 3OLYDFNL�NOXE��1LV������1LV ���P�3UVQR�%UHDVW ������� ���

��� '(1,û�9LãQMD �� 3N�6YHWL�1LNROD�1LV ���P�3UVQR�%UHDVW ������� ���

'HYRMþLFH��3LRQLUNH

�� &2-,û�1LQD �� 3N�6YHWL�1LNROD�1LV ���P�'HOILQ�)O\ ������� ���
�� -29$129,û�.VHQLMD �� 5DGQLþNL��.* ���P�/HÿQR�%DFN ������� ���
�� 5$â,û�$QD �� -DJRGLQD��-$ ���P�0HãRYLWR�,�0HGOH\ ������� ���
�� '-25'-(9,û�,YDQD �� 3N�6YHWL�1LNROD�1LV ��P�6ORERGQR�)UHH ����� ���
�� 1,.2/,û�7HRGRUD �� 3OLYDFNL�NOXE��5DVLQD���.UXVHYDF ��P�6ORERGQR�)UHH ����� ���
�� 627,5296.,�6RILMD �� 3N�6YHWL�1LNROD�1LV ���P�0HãRYLWR�,�0HGOH\ ������� ���
�� 672-.29,û�7DPDUD �� 5DGQLþNL��.* ���P�6ORERGQR�)UHH ������� ���
�� ý$1,û�0LOLFD �� 5DGQLþNL��.* ��P�6ORERGQR�)UHH ����� ���
�� 0,/26$9/-(9,û�6DUD �� 5DGQLþNL��.* ��P�6ORERGQR�)UHH ����� ���

��� '-2.29,û�$QMD �� 3N�6YHWL�1LNROD�1LV ���P�/HÿQR�%DFN ������� ���

'HþDFL��0ODÿL�SLRQLUL

�� /(.,û�/D]DU �� /HVNRYDF��/( ��P�6ORERGQR�)UHH ����� ���
�� -85,û�-RYDQ �� 3N�6YHWL�1LNROD�1LV ��P�6ORERGQR�)UHH ����� ���
�� ,/,û�'DPMDQ �� 3OLYDFNL�NOXE��1LV������1LV ��P�6ORERGQR�)UHH ����� ���
�� 9$1,û�/D]DU �� 3OLYDFNL�NOXE��1DSUHGDN� ���P�0HãRYLWR�,�0HGOH\ ������� ���
�� 325('(1�0LUNR �� -DJRGLQD��-$ ���P�6ORERGQR�)UHH ������� ���
�� '$1(9�0DUNR �� 3OLYDFNL�NOXE��1DSUHGDN� ���P�6ORERGQR�)UHH ������� ���
�� ='5$9.29,û�1HPDQMD �� 3.�&UQLFD ���P�6ORERGQR�)UHH ������� ���
�� ,&,û�$OHNVDQGDU �� 3N�6YHWL�1LNROD�1LV ���P�/HÿQR�%DFN ������� ���
�� %2*'$129,û�9ODGLPLU �� 3OLYDFNL�NOXE��5DVLQD���.UXVHYDF ���P�6ORERGQR�)UHH ������� ���

��� 2%5$'29,û�,JRU �� 3OLYDFNL�NOXE��1DSUHGDN� ���P�6ORERGQR�)UHH ������� ���

'HþDFL��3LRQLUL

�� 1,.2/,û�$OHNVDQGDU �� 3N�6YHWL�1LNROD�1LV ���P�6ORERGQR�)UHH ����� ���
�� 1,.2/,û�8URã �� 3.�&UQLFD ���P�6ORERGQR�)UHH ������� ���
�� 6(.8/29,û�6HNXO �� 3OLYDFNL�NOXE��5DVLQD���.UXVHYDF ���P�6ORERGQR�)UHH ������� ���
�� .86,ý.,�6DãD �� 3N�6YHWL�1LNROD�1LV ��P�6ORERGQR�)UHH ����� ���
�� &(529$.�,JRU �� 3OLYDFNL�NOXE��1DSUHGDN� ���P�6ORERGQR�)UHH ������� ���
�� ',0,75,-(9,û�1LNROD �� 3OLYDFNL�NOXE��5DVLQD���.UXVHYDF ���P�3UVQR�%UHDVW ������� ���
�� -29,û�9XNDãLQ �� 3.�&UQLFD ���P�6ORERGQR�)UHH ������� ���
�� .267,û�3HWDU �� 3OLYDFNL�NOXE��1LV������1LV ��P�6ORERGQR�)UHH ����� ���
�� 67$0(1.29,û�9HOMNR �� 39.�*RF ��P�6ORERGQR�)UHH ����� ���

-$1-8â(9,û�0ODGHQ �� 39.�*RF ��P�6ORERGQR�)UHH ����� ���


